Trigonometry Review

1. Solve the following triangles.
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2. The angle of depression from the top of an 80m high cliff to a sailboat is 21°. Determine the
distance from the base of the cliff to the sailboat.
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5. Determine the measure of angle F to the nearest degree. @
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6. The string on Yuri’s kite is 45 m long and makes an angle of 55° with the ground. Yuri’s friend,
Abdul, is standing directly below the kite.
a) How far apart are Abdul and Yuri now, to the nearest tenth of a metre?

k

X
45”“ (s S§= s
\( =< A X= 4{%(0555’3’2?,%“’\

b) Abdul runs away from Yuri, so that the angle of elevation between Abdul and the Kite is 15°.
How far apart are Abdul and Yuri, to the nearest tenth of a metre?
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